

February 13, 2019

Subject:

Contract for Supplying and Hauling of Crushed, Pre-Coated Rock

for Chip Seal 2019

NOTICE OF INTENT TO AWARD CONTRACT

On February 13, 2019, the Board of County Commissioners of Deschutes County. Oregon considered proposals for the above-referenced project. The Board of County Commissioners determined that the successful bidder for the project was Knife River Corporation - Northwest, with a bid of Six Hundred Sixty Nine Thousand Nine Hundred Seventy Dollars. (\$669,970.00).

This Notice of Intent to Award Contract is issued pursuant to Oregon Revised Statute (ORS) 279B.135. Any entity which believes that they are adversely affected or aggrieved by the intended award of contract set forth in this Notice may submit a written protest within seven (7) calendar days after the issuance of this Notice of Intent to Award Contract to the Board of County Commissioners of Deschutes County, Oregon. at Deschutes Services Building, 1300 NW Wall Street, Bend, Oregon 97703. The seven (7) calendar day protest period will end at 5:00 PM on Wednesday, February 20, 2019.

Any protest must be in writing and specify any grounds upon which the protest is based. Please refer to Oregon Administrative Rules (OAR) 137-047-0740. If a protest is filed within the protest period, a hearing will be held at a regularly-scheduled business meeting of the Board of County Commissioners of Deschutes County Oregon, acting as the Contract Review Board, in the Deschutes Services Building, 1300 NW Wall Street, Bend, Oregon 97703 within two (2) weeks of the end of the protest period.

Notice of Intent to Award Letter – 2019-123

Page 1 of 2

If no protest is filed within the protest period, this Notice of Intent to Award Contract becomes an Award of Contract without further action by the County unless the Board of County Commissioners, for good cause, rescinds this Notice before the expiration of the protest period.

If you have any questions regarding this Notice of Intent to Award Contract or the procedures under which the County is proceeding, please contact Deschutes County Legal Counsel: telephone (541) 388-6625; FAX (541) 383-0496; or e-mail to david.doyle@deschutes.org.

Be advised that if no protest is received within the stated time period, the County is authorized to process the contract administratively.

Sincerely,

DESCHUTES COUNTY, OREGON

Philip G. Henderson, Chair

co: Posted on the Deschutes County, Oregon Bids and RFPs website at http://www.deschutes.org/rfps prior to 5:00 PM on the date of this Notice.

SUPPLYING AND HAULING OF CRUSHED, PRE-COATED ROCK FOR CHIP SEAL 2019
DESCHUTES COUNTY, OREGON

BID RESULTS

HIGH DESERT AGGREGATE & PAVING

P.O. BOX 1929

KNIFE RIVER CORP 64500 O.B. RILEY RD

ENGINEER'S ESTIMATE

Descriptions of the procession of the proce		0. 2.00 DM 4124/2040					BEND, C	BEND, OR 97702	REDMOND	REDMOND, OR 97756
iit TON 1,600 \$34,00 \$54,400.00 \$32,25 \$51,600.00 \$33.15 TON 2,900 \$30,00 \$87,000.00 \$32,25 \$93,525.00 \$28.55 TON 1,800 \$39,00 \$70,200.00 \$39,00 \$70,200.00 \$38.90 sfer Site/Walker TON 2,30 \$8,580.00 \$39,00 \$4,290.00 \$38.90 row 2,300 \$36,00 \$6,290.00 \$39,00 \$4,290.00 \$38.90 sfer Site/Walker TON 2,300 \$82,800.00 \$39,00 \$8,580.00 \$38.50 TON 2,300 \$36,00 \$176,400.00 \$33.50 \$164,150.00 \$35.45 TON 4,900 \$36,00 \$205,200.00 \$33.50 \$190,950.00 \$36.00 TON 150 \$36,00 \$5,400.00 \$33.50 \$5,025.00 \$36.00 TON 150 \$36,00 \$5,400.00 \$33.50 \$5,025.00 \$36.00 TOTAL \$694,270.00 \$33.50 \$699,9	DID OFENIE	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
TON 2,900 \$30,00 \$87,000.00 \$32,25 \$93,525.00 \$28.55 TON 1,800 \$39,00 \$70,200.00 \$39,00 \$70,200.00 \$38.90 Sfer Site Malker TON 220 \$39,00 \$4,290.00 \$39.00 \$4,290.00 \$38.90 Sfer Site Malker TON 2,300 \$86,580.00 \$35.00 \$38.50 \$38.90 \$38.90 TON 2,300 \$36.00 \$176,400.00 \$31.60.00 \$316.00 \$35.45 \$35.45 \$35.00 \$35.05		Redmond Stocknile Site - Young Pit	TON	1.600	\$34.00	\$54,400.00	\$32.25	\$51,600.00	\$33.15	\$53,040.00
TON 1,800 \$39,00 \$70,200.00 \$39,00 \$70,200.00 \$38,90 TON 110 \$39,00 \$4,290.00 \$39,00 \$4,290.00 \$38.90 sfer Site/Walker TON 2,300 \$86,580.00 \$8,580.00 \$8,580.00 \$38.90 TON 2,300 \$36.00 \$176,400.00 \$176,400.00 \$33.50 \$164,150.00 \$35.45 TON \$5700 \$36.00 \$205,200.00 \$33.50 \$190,950.00 \$36.00 TON \$5700 \$36.00 \$5,400.00 \$33.50 \$5,025.00 \$36.00 TON \$50 \$56,000 \$5,400.00 \$33.50 \$5,025.00 \$36.00		Redmond Stockpile Site - Negus	TON	2.900	\$30.00	\$87,000.00	\$32.25	\$93,525.00	\$28.55	\$82,795.00
TON 110 \$39.00 \$4,290.00 \$39.00 \$4,290.00 \$38.90 \$38.90 sfer Site/Walker TON 220 \$39.00 \$8,580.00 \$35.50 \$8,580.00 \$36.20 \$38.90 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.00	4 60	La Pine Stockpile Site	TON	1,800	\$39.00	\$70,200.00	\$39.00	\$70,200.00	\$38.90	\$70,020.00
refunction 220 \$39.00 \$8,580.00 \$39.00 \$8,580.00 \$38.90 \$38.90 \$38.90 \$38.90 \$38.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.20 \$36.00	4	La Pine Stockpile Site	TON	110	\$39.00	\$4,290.00	\$39.00	\$4,290.00	\$38.90	\$4,279.00
sfer Site/Walker TON 2,300 \$36.00 \$82,800.00 \$35.50 \$164,150.00 \$35.45 \$36.20 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.45 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.60 \$35.02	. 5	l a Pine Stockpile Site	TON	220	\$39.00	\$8,580.00	\$39.00	\$8,580.00	\$38.90	\$8,558.00
TON 4,900 \$36.00 \$176,400.00 \$33.50 \$164,150.00 \$35.45 \$36.00 \$36.00 \$205,200.00 \$33.50 \$190,950.00 \$36.00 \$36.60 \$36.60 \$36.60 \$36.60 \$36.00	9	Alfalfa Stocknile Site - Alfalfa Transfer Site/Walker	TON	2.300	\$36.00	\$82,800.00	\$35.50	\$81,650.00	\$36.20	\$83,260.00
TON \$36.00 \$205,200.00 \$33.50 \$190,950.00 \$36.60 TON 150 \$36.00 \$5,400.00 \$33.50 \$5,025.00 \$36.60 TOTAL= \$694,270.00 TOTAL= \$699,970.00 TOTAL= TOTAL=	7	Rend Stocknile Site - McGrath Rd	TON	4.900	\$36.00	\$176,400.00	\$33.50	\$164,150.00	\$35.45	\$173,705.00
TON \$36.00 \$5,400.00 \$33.50 \$5,025.00 \$36.60 TOTAL = \$694,270.00 TOTAL = \$699,970.00 TOTAL =	000	Bend Stockpile Site - County Yard	TON	5,700	\$36.00	\$205,200.00	\$33.50	\$190,950.00	\$36.60	\$208,620.00
\$694,270.00 TOTAL = \$669,970.00 TOTAL =	6	Bend Stockpile Site - County Yard	TON	150	\$36.00	\$5,400.00	\$33.50	\$5,025.00	\$36.60	\$5,490.00
					TOTAL =	181	TOTAL =		TOTAL =	



Deschutes County Board of Commissioners 1300 NW Wall St, Bend, OR 97703 (541) 388-6570 – Fax (541) 385-3202 – https://www.deschutes.org/

AGENDA REQUEST & STAFF REPORT

For Board of Commissioners Business Meeting of February 13, 2019

DATE: February 7, 2019

FROM: Cody Smith, Road Department,

TITLE OF AGENDA ITEM:

Consideration of Signature of Document No. 2019-123, a Notice of Intent to Award Contract for Supplying and Hauling of Crushed, Pre-Coated Rock for Chip Seal 2019 to Knife River Corporation - Northwest

RECOMMENDATION & ACTION REQUESTED:

Motion for approval of Board Chairman signature of Document No. 2019-123, a Notice of Intent to Award Contract for Supplying and Hauling of Crushed, Pre-Coated Rock for Chip Seal 2019 to Knife River Corporation - Northwest

CONTRACTOR: Knife River Corporation - Northwest

AGREEMENT TIMEFRAME:

Starting Date:

Upon signature by all parties

Ending Date:

May 17, 2019

INSURANCE:

Insurance Certificate Required: Yes

Insurance Review Required by Risk Management: Yes

BACKGROUND AND POLICY IMPLICATIONS:

Deschutes County Road Department ("Department") prepared solicitation documents for the Supplying and Hauling of Crushed, Pre-Coated Rock for Chip Seal 2019. The project was advertised in the *Daily Journal of Commerce* and the *Bend Bulletin* on January 16, 2019 and January 23, 2019. Department opened bids at 2:00 P.M. on January 31, 2019.

Two (2) bids were received for this project. The bid results are as follows:

Knife River Corporation - Northwest

\$669,970.00

High Desert Aggregate and and Paving, Inc

\$689,767.00

Engineer's Estimate

\$694,270.00

This action issues a Notice of Intent to Award the contract to the apparent low bidder, Knife River Corporation - Northwest, and allows seven days for a party to protest the award. If there is no protest within the seven-day period, the contract is awarded to the low bidder. The bid tabulation, including the Engineer's estimate, is attached.

<u>FISCAL IMPLICATIONS:</u> Purchase of these materials is included within the Department budget for Fiscal Year 2018-2019.

ATTENDANCE: Cody Smith, County Engineer; Chuck Schutte, Operations Manager